S1

Multi-digit Subtraction Answer Key
Line up the digits vertically and find the difference.
1) 4,126 - 985 2) 520 -319 3) 82,764 - 61,492
4,126 520 82,764
- 985 - 319 - 61,492
3,141 201 21,272
4) 30,241 - 8,587 5) 6,937 — 254 6) 5,408 - 5,013
30,241 6,937 5,408
- 8,587 - 254 - 5,013
21,654 6,683 395
7) 71,639 - 453 8) 2,360 - 1,871 9) 19,285 - 2,645
71,639 2,360 19,285
- 453 - 1,871 - 2,645
71,186 489 16,640
10) 93,504 - 74,726 11) 721 - 644 12) 21,803 - 878
93,504 721 21,803
- 74,726 - 644 - 878
18,778 77 20,925
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